fks = AH =
= N O 1E & 50 B

5

1






—REEHHETR (8 75)

/9







ARG Ty

&

B2 T

#7 AR (BEAN224EIERRE6T5) H1TISEE 1EHOBEIZ LV RO LBV HRM Y2 LI2D T, [RERIZS SEHOHEIZ LY . Zha AKifimgsiclmE
L. AR ERD D,

ST245H 1 BHEH

aEfiR AHE PR



RRRT 6 75

#5 BalE (ERI22EHERE6TS) 19K 1 HOBEIZ LY | SFcEERE T —REFHIETR (B8 %5) IZo\ T, D LBV HERLST D,

SF24 3 A31H

aEfiR AHE PR



o

BT R S T REFHHIE TR (5 8 5)
TRTEERETOREFMETR (H8%) I, KICEDD LI AITLD,
(R TR OHIE)
B mARHTPROBEICRAREZENZN564, 188 THZBM L, AR TROBEZ R AR HZ 112429, 306, 318 TH &3 2,
2 AR PREOMIEDRKIED Koy B UYLy Z & ORI NI IER ORARE PROSEIL, 15 1 ZRARH PRMAE) (X5,
(R AR 2 DA IE)
B2 MEARFEROBMZ, 5 2 KEEIFFEME) (X5,



1R O AR HETHEME
AN (AL T
K HiERTO%E i IE %A #t

17. % ] & 666, 681 51, 000 717, 681
1. % & 666, 681 51, 000 717, 681

18. # A & 1, 888, 856 3,158 1,892, 014
1. & & 1, 882, 468 3,158 1, 885, 626

% & 29, 252, 160 54, 158 29, 306, 318




5
) (AL T
K T HiERTO%E i IE %A #t
i % # 4,775, 032 54, 158 4,829, 190
1. % % il % 4, 352, 477 54, 158 4, 406, 635
% = Al 29, 252, 160 54, 158 29, 306, 318




FoRk ARBEFFEIE

Gty
= 5 *x ES 4 R #

T

" w o m W2 TR (2 T 4R D

2 B o1 B R R R wmrwow B W & E B 4.8
3 R % #o2W @ A A WEEHERE (SR L R BT 10, 700
3 R % ®oo2W E A A B REPOEE GRS 0o X ERER) 7,814
10 # # ®ood ¥ B % N EREE KW B M B ) 337




O\ RO M IE P R R OHE BB E

(Bfz M)

K MiOIE AT o KH | A 1E # At
G bt & 666, 631 51, 000 717, 681
& A & 1, 888, 856 3, 158 1,892, 014
s & 7 29, 252, 160 54, 158 29, 306, 318




(B2 TH)

" W
R O % 2t = o
R w | MR
b 4,775,032 4,829, 190 54, 158
7 s 29, 252, 160 29, 306, 318 54, 158




2. wm A
&) 17, Fkté (H) 1. HH4 (BAE )
i
H WIERTORE | # E %8 7t = |
X 7 4 KA
L& % # % M & 666, 670 51, 000 17,670 1.4 % % 9 & % W & 51,000 | B 55 S LAk 0 e EH4 51, 000
7t 666, 681 51, 000 717, 681
() 18, A () 1 EeEmAS
4. BESDILRFKSL Y Kb 548, 252 3,158 551,410 1. BE S D S LRk 0 I 3, 18| BE 5D SRRSO 0 HEeRAL 3,158
fo A 4 4 ik A 4
7t 1, 882, 468 3,158 1,885, 626




10

3. W
() 2. WHE (I\) 1. BEEHE (Hpr TH)
W OIE 8 o M OJFE KN R i
S IERTO%E | A #H 2 F TE %) 5 . S B
H FIERTORE | Ml IE #H at : — a e % 4 & A H
EEL M4 e 5 E] = o i
6. [ & B E| 1,307,355 54, 158] 1,361,513 54, 158 1.2 /B % 3, 158 |THEEM B 3, 158
25.f% S & 51,000 | B & 52 & & RKSL W RGN 4
51, 000
B 4,352, 477 54, 158 | 4, 406, 635 54, 158

10




11

KRR TR AR E
G 2BE
(1) 1 BEHE
(H) 1 — s B
(FE4) F2)THEH B2 TSI O ik LB B A )
/e D ) 1)
i3] % T B MEroME EREBE SR THRIETEKLZIEZE O FEHICE D B o F A
oW EFRHR IS LOEIRTNNERS 2V E O
A SO A S & O H R
B 1S T B ﬂ:P% T(E'JODEI@%%@?L%_;M L., F
13 ekt 4,814 13 ZEtkt 4,814 RO THARETHA =D
£ X M =
%2?%%WI$&U%$%%WI
IO A E AR (B%HR
&, BE)
ﬁﬁ%%?ﬁ\#ﬁﬁ@%2ﬁ
FHETT TERFH
= 4,814 # it 4,814 TR245H
(M)
FEE [E W 3 4 o5 1E & DL E AR — AR
AR THER 4,814 4,814
FEREENFITRE
ek AR 4,814 4,814

11




12

MR BT AR E

(%) 3BEA%
(18) 2 R AR AL
(B) 1 RSk
(%%%)L%@$% Gl = & F 7 A L R RIIE )
i D 9 15}
3 £ Nig B Mz oMmE EBESISAR TR IETHEKSEZ O FHICLD B M 8 F M
o nwE PRI LOE IR TNERS WV EH D
RYEXSE DT D~ A7 | HHEIK
T T $m%ﬁﬁﬁﬁﬁt%0\$ﬁﬁﬂﬁﬁﬁ
1 HREN 3, 230 HThH D=0,
It 529
11 FHE 12, 662 11 A% 10, 700
13 ZEFerk 7,959
FO¥X WM =
CGRERIRE S 7T FECKER Y
— &Gl 2 A S OREA
HET T T ERFH
7 24,380 |3t 7 10,700 | F249 J
(FH)
HEE [ S HH 4 o1& Z Ot E IR — AR
EX NS X 24, 380 24, 380
FRENHATEA 13, 680 13, 680
oA 10, 700 10, 700

12



13

MBI BT AR E
(&) 3 ERA#H
(18) 2 W E AR L2
(B) 2B ATE
(F24) REINEE Bl oo oA L R EYERHR)
s D 9 15}
4 % Big B mEzoOMME EB IR0 EFREBEIHEOFEMHICL K Mo B #H B
o WnWeE PRI LD TN IERS WV E O
TH TH Thy | BEENROIZ OO~ A7 HER
A SN SRER B I H 0 . FEN
11 % 1,000 11 T 389 | HUTHREEETH 570,
18 i i A 4,000 18 fif LA 495
19 AR A & A4 8, 000 19 AH&H B X 022 A 42 6, 930
£ ¥ M =
< INNIARBHRT 10JitiE%
A SR OREA
- BREMREB AT, SR EbE 145ER
w4 (AR SEOBA)
T T ERY
7 13,000 |3 7 7,814 | THIZHE6 S
(FH)
HEE [ I 37 4 51 Z DA E BAR — AR
EX NS X 13, 000 13, 000
FRENHATEA 5, 186 5, 186
oA 7,814 7,814

13




14

MR T (B 2

(GK)  10BE#E
(T 2 INFERE
(H) 1A
(F4)  NPRGEE (R PR AR)

i ) o) 5
5] % i " MEOME FBB AR ITPFERINSEZEOFREHICEL D B Mo F @
oW PRI BOEIR TN ERS W H O
oS ISR N Py 3/ A
i i T oy b A 00 S 1 % A
AR 136 A 3T BT = LISk D DS T
HTHDHT-D,
X M =
- PARS L D FEHE IR O R
A, BAREETEREE
FEET TERFY
it 436 &t = 337 W29 A
(FF)
g [ 532 4 o5& Z Ok E IR — AR
AR HER 436 436
FERENFITRE 99 99
ek AR 337 337

14







